


Mewors 40 (cap. §)
?&4.43 oL Wlma 2 V\/\Ma(/ze%;s‘ﬁ\ ﬁ)—wﬂﬁ _ng vl

= A ~ EZA /31 O/XM .
’\’\map | Ca-—x%
[y
2 5L







* Buools By p, Py YO Bk 2 P P
° @NM«AO BtA E(/\.\ = Q. B\O\,\j@ C7L~ M
l a C 7.9';

* Bun

unsle B<A, @l\qa <06 . Bt ¢ Ol %M‘@
.




-
—
—
—
—

:"%Y‘\y

g1

QV\




(.“B C;Souu,& O /970 d/&vum o oy M Seeno
D alhl o e e 0 Comn, O Pegs <
0 buco b Moro g (g,

(C) Faqoe o Grulfoias (Anash, By, X7, 03







T”DO&%&\ a‘(@ /\’\&Msﬁg'gx.ﬂ"%
X P(e)Q - C(8)

OIT: D/p ):(Q)-. Q[C‘(‘Y) —
< 0’7&'@+ g0 C

%
ot D _ dc(g
’L -

—_— /

E'\'\%(G{B = CYM}(Qh)







? 94Q ¢
- CW@) |
— " = —
. r Cr
IA'\JWYD(/\ /J,:,\,m
S

— M‘Dk e/fo\jﬂ;\

’ é‘? a kLT

N’LX@ /99"'-(»/
1 ( 2 o/(l

i
—

—x Mok /“’70 E@M'XD

YWA el



K G W cal
= Mmark wp 2 Skyacb
ow g ﬁ@dw /4 mend el



Q:XULC:QQ:
" Denta - Q=30 _ Q07
_ Gt C®=0,05 @2+ 1000

CQ/Q(/\,Q\ o Peo, S ?,W:o{o»ﬁ'(( e O



Q= 2000 —20FP = P<2000 —R - (06— &
20 L0

W\ X (/OO-%)Q — O\/OSQ.’L- 'OOO

&
[
ol_TQT: lco-Q _ 0,1 = O[T=3%x 3 — Co5xste?

IQ —locp
,QQ-: OI'ZQ /‘/—J-—"’]:;gq}r
QM = 00 -

\0;2 500







\

e~ A )(7;;\. N limel L

_ oa.ou_ﬂ'b At CadIA)  tan—

Propryerh  neg ~frvak L.













'%b&’@ AR o oy plhla Aa #&Ma

36 Mg@ﬂ\o
<» “> EsTat () 6/\\::\'\9;06 &@)

J) /\'\W L= qua/o rea S lwdlo .
ANecl
ANATE(
ANA ~ Ob?@vxooo@ /67)4/\.,0{{*&.%‘:5






